2019-07-08 HeinalMP Lopputulos
7 poytaa, 13 paria, 1 lepopari. Jakomaara: 26eBIMPs. Lepokierros (*) antaa pelattu keskiarvo.
Sija Pari Pisteet Nimi VP J-1D Kerho
1 10 97,5* Lasse Hilska - Oula Wichmann 6 18961487 Salon Bk
2 3  48,8* Jari Hilska - Isto Valkama 4 18832478 Salon Bk
3 1 47,7* Pertti Partanen - Nikolai Kaplitsnoi 2 13701360 Salon Bk
4 6 14,1* Jukka Pettersson - Tuure Salminen 1 30232962 Salon Bk
5 13 8,7* Arvo Priiméagi - Jarmo Laakso 13821365 Salon Bk
6 14 4,3* Riitta-Liisa Mékela - Ensio Lehtinen 13181184 Salon Bk
7 4 -2,2* Velipekka Lukka - Eino Nygren 14031830 Salon Bk
8 2 -14,1* Anna-Liisa Hiuspaa - Timo Nurminen 29182433 Salon Bk
9 8 -19,5* Kimmo Kanerva - Janne Holmqvist 13861387 Salon Bk
10 12 -33,6* Timo Alanko - limo Arosilta 27371895 Salon Bk
11 7 -43,3* Henrik Laaksonen - Varpu Honkakoski 28371254 Salon Bk
12 5 -44,4* Janne Blomgvist - Antti Luoto 28402783 Salon Bk
13 11 -63,9* Timo Makela - Peter Soinu 13192940 Salon Bk
1 AKJI6 2 AK10
Q82 A83
Ja2 A9863
K93 Q2
Q3 10874 J73
K107 i J654 KJ7 | . 54
K754 AQ 54 KQJ1072
J762 A108 J10976 A8543
952 Q986542
A93 Q10962
10963
Q54 K
IN N 90 62X E 30(
& ¢ v & N & ¢ v & N
P 5 6 6 7 7 P 3 5 11 11 9
E . I 6 6 E S O
IL 7 6 7 6 6 I c 7 1 1 2
Pari Sit LK Tulos Pisteet Keskitulos | Pari Sit LK Tulos Pisteet Keskitulos
813 2vv E -2 410 100 10 -1,0 60 610 44 S +245 680 6,0 -6,0 460
3 2 1IN N = 4 90 10 -1,0 3 24 S =45 620 4,0 -4,0
7 4 1IN S = +4 90 10 -1,0 12 5 44 S = &9 620 4,0 -4,0
12 5 1IN S = +4 90 10 -1,0 7 4 6ex E -3 v6 500 10 -1,0
14 1 1¢ N -1 48 -50 -3,0 3,0 14 1 5ax E -1 48 100 -80 8,0
610 2¢v E = «Q -110 -5,0 5,0 813 6ax S -1 «6 -200 -12,0 12,0
- 11 Lepokierros -2,5 - 11 Lepokierros -2,5
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2019-07-08 HeinalMP Lopputulos
7 poytaa, 13 paria, 1 lepopari. Jakomaara: 26eBIMPs. Lepokierros (*) antaa pelattu keskiarvo.
AK42 Q8
3 4 K93
Q986 A5
A7643 KQ10653
Ja3 Q976 AKJI65 103
AQ973 | 10652 62 3+ AQJ8
J3 _ 4 KQJ104 62
952 QJ108 9 AJ842
105 9742
KJ84 10754
AK10752 9873
K 7
7e S 1441 6o W -137(
& ¢ v «+ N & ¢ v «+ N
PE 9 1z 7 9 1C PE 4 1 2 2 1
IL 3 0 6 4 3 IL 9 1z 1C 11 11
Pari Sit LK Tulos Pisteet Keskitulos | Pari Sit LK Tulos Pisteet Keskitulos
8 5 66 S +1vA 940 9,0 -9,0 570 | 14 2 3N E = &7 -600 1,0 -1,0 -640
711 66 S = & 920 8,0 -8,0 4 3 3N E +1 a7 -630 0,0 0,0
14 2 3N N +2#Q 460 -3,0 3,0 1012 3N E +1 48 -630 0,0 0,0
4 3 50 S +2vA 440 -40 4,0 13 6 3N E +1 a7 -630 0,0 0,0
1012 5¢ S +24J 440 -40 4,0 711 3N E +2 a7 -660 -1,0 1,0
13 6 5¢ S +2vA 440 -40 4,0 8 5 3N W +2aK -660 -1,0 1,0
-1 Lepokierros 18 -1 Lepokierros 18
5 KQ743 6 85
KQ5 K9
97 AK103
A75 J10962
J2 A109865 73 AKQ102
J103 I J6 _4 713
32 AQJ105 742 Q9865
KQJ942 86 AK8754 3
J964
A987642 AQ108542
K864 J
103 Q
4a X E 30( 3v S 14(
& ¢ v « N & ¢ v &+ N
PE 6 6 1C 5 9 PE 6 5 9 7 8
IL 7 6 2 8 4 IL 5 8 4 6 4
Pari Sit LK Tulos Pisteet Keskitulos | Pari Sit LK Tulos Pisteet Keskitulos
10 2 5¢x E -4 «10 800 6,0 -6,0 570 | 5 4 4ax E -2 vA 500 4,0 -4,0 350
812 4v S +143 650 2,0 -2,0 812 4¢v S = &K 420 2,0 -2,0
14 3 4v S = o2 620 2,0 -2,0 14 3 4v S = aA 420 2,0 -2,0
1 7 5¢x E -3vA 500 -20 2,0 10 2 3 W -4 vK 400 2,0 -2,0
1113 5¢x E -3 #10 500 -20 2,0 1 7 3v S +1aA 170 -50 5,0
5 4 2¢x E -19vA 100 -10,0 10,0 1113 2v S 4247 170 -50 5,0
- 6 Lepokierros 0,5 - 6 Lepokierros 0,5
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2019-07-08 HeinalMP Lopputulos
7 poytaa, 13 paria, 1 lepopari. Jakomaara: 26eBIMPs. Lepokierros (*) antaa pelattu keskiarvo.
7 652 8 5
KQ952 QJ1096
Q94 Q1032
42 1085
K3 A109874 KJ104 A97632
63 + AJ74 83 )i 752
KJ52 ! A10 K876 4
A9653 8 AQ9 J63
QJ Q8
108 AK4
8763 AJ95
KQJ107 K742
6N W -1440 4a W -42(
& ¢ v «+ N & ¢ v «+ N
PE 4 1 3 1 1 P 6 8 8 3 5
IL 9 1z 1C 1z 1z E 7
IL 6 5 5 1C 7
Pari Sit LK Tulos Pisteet Keskitulos | Pari Sit LK Tulos Pisteet Keskitulos
2 8 44 E -1410 100 10,0-10,0 -380 | 10 7 4ax E -1 vA 100 8,0 -8,0 -230
10 7 3¢ E = +Q -110 7,0 -7,0 14 4 3« E = vA -140 3,0 -3,0
6 52« E +1«10 -140 6,0 -6,0 2 8 32 E +1vK -170 2,0 -2,0
12 1 3N W +1 a2 -630 -6,0 6,0 12 1 2+ E +3vK -200 1,0 -1,0
11 3 44 E +1&K -650 -7,0 7,0 11 3 40 W = vA -420 -50 5,0
14 4 44 E +2 2K -680 -7,0 7,0 6 5 4ex E = vA -590 -8,0 8,0
- 13 Lepokierros 0,3 - 13 Lepokierros 0,3
A1085 108
9 K8532 10 Q53
A6 Q9872
108 J74
KJ 962 K5432 Q76
Q1074 | J 97 +4 AK4
Jo32 108754 J6 AK10
532 KQ64 10963 AK82
Q743 AJ9
A96 J10862
KQ 543
AJ97 Q5
4a N 42 4a E -62(
& ¢ v « N & ¢ v &+ N
PE 8 6 1C 1C 8 PE 3 4 5 3 3
IL 3 6 3 3 3 IL 1C 8 8 1C 9
Pari Sit LK Tulos Pisteet Keskitulos | Pari Sit LK Tulos Pisteet Keskitulos
7 6 4v N = &K 420 3,0 -3,0 300 | 10 1 3N E -1 vJ 100 8,0 -8,0 -260
10 1 4¢v N = 8 420 3,0 -3,0 12 4 64 E -1 #Q 100 8,0 -8,0
13 2 4v N = ¢4 420 3,0 -3,0 13 2 2N E -1+ 100 8,0 -8,0
14 5 4¢ N = 2Q 420 3,0 -3,0 14 5 3N E = vJ -600 -8,0 8,0
11 8 4 S -1e2 -50 -8,0 8,0 11 8 40 W = ¢8 -620 -8,0 8,0
12 4 4¢ N -1 «K -50 -8,0 8,0 7 6 54 W = 410 -650 -9,0 9,0
3 - Lepokierros 1,9 3 - Lepokierros 1,9
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2019-07-08 HeinalMP Lopputulos
7 poytaa, 13 paria, 1 lepopari. Jakomaara: 26eBIMPs. Lepokierros (*) antaa pelattu keskiarvo.
A3 K1092
11 Q1075 12 AJ1075
K85 95
A873 86
KQ754 1082 3 A7654
64 AK83 Q43 | | 82
43 _ Q92 K876 Q4
KQ94 i 1062 AQ754 K1032
J96 QJ8
Jo2 K96
AJ1076 AJ1032
J5 J9
3¢ S 11 48 W -13(
& ¢ v «+ N & ¢ v «+ N
PE 6 9 8 4 7 PE 3 7 7 7 6
IL 7 4 5 7 5 IL 1C 6 4 5 6
Pari Sit LK Tulos Pisteet Keskitulos | Pari Sit LK Tulos Pisteet Keskitulos
1 33 S+lv4 130 50 -5,0 40 | 13 5 3v N = +Q 140 3,0 -3,0 30
13 5 3¢ N =410 110 4,0 -4,0 14 6 2¢v N +1¢0Q 140 3,0 -3,0
8 7 3¢ S -1v6 -50 0,0 0,0 1 320 E -1aJ 50 10 -1,0
410 24 W = v¥5 -110 -2,0 2,0 8 7 24 E -1aJ 50 10 -1,0
11 2 24 W = ¢5 -110 -2,0 2,0 410 3 W +149 -130 -4,0 4,0
14 6 24 W = #5 -110 -2,0 2,0 11 2 46 W = ¢5 -130 -4,0 4,0
12 -- Lepokierros -1,3 12 -- Lepokierros -1,3
J109 Q106
13 AK 14 K9852
AK10732 6
42 QJ104
KQ6 742 873 A
QJ986 _I_ 753 Ab64 QJ1073
Q95 J64 KJ54 AQ972
106 K987 AK7 65
A853 KJ9542
1042
8 1083
AQJ53 9832
5N N 660 6a x S -80(
& ¢ v « N & ¢ v &+ N
PE 1C 11 8 11 11 PE 7 1 1 8 1
I 3 2 5 2 2 I 5 1z 1 5 9
L - L o1
Pari Sit LK Tulos Pisteet Keskitulos | Pari Sit LK Tulos Pisteet Keskitulos
14 7 3N N +2 a7 660 6,0 -6,0 430 1 6 49 E -246 100 12,0-12,0 -640
511 3N N +1 8 630 50 -5,0 511 4v E +142 -450 5,0 -50
1 6 3N N = &2 600 50 -5,0 1310 4v E +1 49 -450 5,0 -50
12 3 3N S = v9 600 50 -5,0 14 7 4v E +1 48 -450 5,0 -50
2 43N N -19v3 -100 -11,0 11,0 2 4 6vx E = &8 -1210 -11,0 11,0
1310 3N N -1 #3 -100 -11,0 11,0 12 3 6vxx E = &9 -1620 -14,0 14,0
- 8 Lepokierros -0,8 - 8 Lepokierros -0,8
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2019-07-08 HeinalMP Lopputulos
7 poytaa, 13 paria, 1 lepopari. Jakomaara: 26eBIMPs. Lepokierros (*) antaa pelattu keskiarvo.
8 864
15 63 16 Q985
KJ9632 962
K1062 QJ5
Q9764 KJ32 1093 KJ752
Q9 | 742 Kr2 | Ja3
874 ! A10 KQJ8g7 A10
874 i AQJ5 K7 A93
A105 AQ
AKJ1085 A106
Q5 543
93 108642
5a X W 30( 4a W -62(
& ¢ v «+ N & ¢ v «+ N
P 7 11 9 4 7 PE 6 4 5 3 4
E 6 1C o IL 7 9 7 1C 8
IL 5 2 3 9 5
Pari Sit LK Tulos Pisteet Keskitulos | Pari Sit LK Tulos Pisteet Keskitulos
2 7 4¢x S = 46 790 12,0-12,0 100 | 612 3N W -1 v5 100 10,0-10,0 -370
13 4 2¢v S +1 46 140 10 -1,0 111 2¢ E +148 -110 6,0 -6,0
3 52 W-2v9v3 100 0,0 0,0 3 52 E+1vA -140 6,0 -6,0
612 3ax W -1 v6 100 0,0 0,0 13 4 464 E = &2 -620 -6,0 6,0
111 3« W -1+3 50 -20 2,0 14 8 4« E = vA -620 -6,0 6,0
14 8 24 W -1 v6 50 -20 2,0 2 7 46 E +145 -650 -7,0 7,0
10 -- Lepokierros 3,8 10 -- Lepokierros 3,8
Q92 10875
17 A654 18 KJ985
10543 KJ6
93 10
J5 AK1076 KQ6 AJ32
K1098 | QJ32 A42 | 4 76
AK9 542 A10973
AJ106 K742 AKJ2 86
843 94
7 Q103
QJ8762 Q8
Q85 Q97543
6N E -990 3N E -400
& ¢ v « N & ¢ v &+ N
PE 1 6 1 1 1 PE 5 3 6 4 4
IL 11 7 1z 11 1z IL 7 1C 7 9 9
Pari Sit LK Tulos Pisteet Keskitulos | Pari Sit LK Tulos Pisteet Keskitulos
3 86y E -2¢7 100 11,0-11,0 -470 1 53N W -2a8 100 9,0 -9,0 -290
212 4v E +146 -450 1,0 -1,0 713 3N W -1 +8 50 8,0 -8,0
4 6 4v W +1 49 -450 1,0 -1,0 212 3N W = ¢9 -400 -3,0 3,0
1 55¢ W+1a3 -480 0,0 0,0 3 83N W =v5 -400 -3,0 3,0
713 3N W +3v4 -490 -1,0 1,0 4 6 3N W = v8 -400 -3,0 3,0
1110 6v E = +Q -980 -11,0 11,0 1110 3N W = v5 -400 -3,0 3,0
14 -- Lepokierros 0,2 14 -- Lepokierros 0,2
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2019-07-08 HeinalMP Lopputulos
7 poytaa, 13 paria, 1 lepopari. Jakomaara: 26eBIMPs. Lepokierros (*) antaa pelattu keskiarvo.
K106 832
19 K87 20 10753
83 Q1094
K9765 92
AJ93 Q852 J65 AQ7
Q94 . J102 94 )i ‘|‘ AKQ86
K1096 N 7542 AK52 876
42 - Q8 KQ43 108
74 K1094
A653 J2
AQJ J3
AJ103 AJ765
4y S 42( 4N W -630
& ¢ v « N & ¢ v « N
PE 11 7 1C 7 9 PE 4 4 3 4 3
IL 2 6 3 5 3 | 9 9 1C 9 1c
L 8 : . 8 :
Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
5 7 3N S 4246 460 50 -5,0 280 313 3N W = a9 -600 1,0 -1,0 -620
8 1 3N S +1410 430 40 -4,0 5 7 3N W = +4 -600 1,0 -1,0
2 6 3N N = a2 400 3,0 -3,0 2 6 3N E +1 46 -630 0,0 0,0
1211 3 S +246 150 -4,0 4,0 8 1 3N W +1 49 -630 0,0 0,0
1410 2N S +1 43 150 -40 4,0 1211 3N W +1+4 -630 0,0 0,0
313 32 S = #4 110 -5,0 5,0 1410 3N W +1+3 -630 0,0 0,0
4 - Lepokierros -0,1 4 - Lepokierros -0,1
A1062
21 J10852 22 K97
KJ73 K9
AKJ4 AKG3
A109754 KJ8 Q7 85
Q I A94 J5 __ 4 Qlo82
Q82 A10954 J1074 652
952 Q7 QJ1052 9874
Q632 KJ943
K763 A643
6 AQ83
10863
44 X E 10( 7« S 1511
& ¢ v « N & ¢ v « N
P 9 4 1C 4 5 PE 9 1z 11 12 1z
E .3 : : IL 31 2 0 1
IL 4 9 2 9 8
Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
1312 4¢v N = &K 620 12,0-12,0 -120 6 8 74 S = 2Q 1510 13,0-13,0 750
3 7 46 W -2 &A 100 6,0 -6,0 1411 60 S +14Q 1010 6,0 -6,0
4 1 46 W -1 &K 50 50 -50 3 7 6a S = «Q 980 6,0 -6,0
6 8 4¢vx N -1 K -200 -2,0 2,0 1312 5e S +2 #Q 510 -6,0 6,0
510 464 W = &A -420 -7,0 7,0 510 44 S +22Q 480 -70 7,0
1411 46 W = &A -420 -7,0 7,0 4 1 74 S -12Q -50 -13,0 13,0
- 2 Lepokierros -0,5 - 2 Lepokierros -0,5
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2019-07-08 HeinalMP

7 poytaa, 13 paria, 1 lepopari. Jakomaara: 26eBIMPs. Lepokierros (*) antaa pelattu keskiarvo.

Lopputulos

108 J87
23 A1093 24 Q1098

KQ10 5

AQ42 AK642
Q73 J52 K9652 3
J874 _|_ KQ62 K532 J7
J42 ! 853 A9 KQ10876:
KJ8 - 1093 103 QJ9

AK964 AQ104

5 Ab64

A976 J32

765 875
6e S 137! 3Nx W 100

& ¢ v « N & ¢ v « N

P 1z 1z 9 11 1c P 9 4 8 8 5
E : : : 9 E : : 9
IL 1 1 4 2 2 IL 4 9 5 4 8
Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
113 3N N +2 410 660 2,0 -2,0 610 | 1412 3ax S = ¢+A 530 11,0-11,0 20
4 8 3N N +1vK 630 1,0 -1,0 113 2¢vn E -2 48 100 20 -2,0
14 12 4e S = v4 620 0,0 0,0 5 2 3¢ E -1 vA 50 1,0 -1,0
611 3N N = v6 600 0,0 0,0 6 11 4e E -1 «8 50 1,0 -1,0
10 3 3N N = ¢2 600 0,0 0,0 10 3 3¢ E = «8 -110 -4,0 4,0
5 224 N+2v2 130 -10,0 10,0 4 8 3N S -34a5 -150 -5,0 5,0
7 - Lepokierros -1,7 7 - Lepokierros -1,7

A962 AQ762
25 954 26 A32

AJ105 A7

53 K72
104 KQ KJ985
10873 | AQJ6 K98 _|_“ 65
Q2 K9873 K10 QJ9653
AQ974 J8 A103 Q9854

J8753 1043

K2 QJ1074

64 842

K1062 J6
4a x N -30( 3¢ W-11(

& ¢ v « N & ¢ v « N

PE 4 4 3 8 6 PE 4 4 8 8 7
| 9 9 1C 5 7 | 9 8 4 4 6
L 8 o L 9 5 5
Pari Sit LK Tulos Pisteet Keskitulos Pari Sit LK Tulos Pisteet Keskitulos
11 4 3N E -3 3 300 6,0 -6,0 60 | 1413 24x W -2 vA 500 11,0-11,0 -80
6 3 3N E -2 a5 200 40 -4,0 11 4 5¢x E -1 410 200 70 -7,0
2 14 E -1a2 100 1,0 -1,0 712 3v S -1 +K -100 -1,0 1,0
1413 4v E -1 48 100 1,0 -1,0 2 1 3v S -2 &3 -200 -3,0 3,0
712 2v E 4245 -170 -6,0 6,0 6 3 32 N -2 &4 -200 -3,0 3,0
810 4v E = 45 -620 -12,0 12,0 810 SN N -542 -500 -9,0 9,0
5 - Lepokierros -1,7 5 -- Lepokierros -1,7
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